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If so, the middle case poses a difficulty for Ray

OVERVIEW

27 argued that the last case of the Xn*2 is not understood.” 95 27 explained that
(we are discussing after wX> and there is no need to invert the rulings, and) the
Xn>71 is according to "2 who maintain that "°w is not 712. The X723 asks that
according to x99 21 (the X1 and) the x9°0 pose a difficulty for 21.> Our moon
explains why we cannot resolve the difficulty the same way X271 resolved it.

mMdoIN responds to an anticipated difficulty:*

1N99NYY NNINY 51"18\’) 19913 NN NY NNI2T 1199 19910Y PPNY
It is not reasonable to invert the rulings of the Xn>73, since it is not evident from
the Xn>s72 at all that it needs to be reinterpreted and inverted.

SUMMARY
We do not change the X017 unless there is sufficient internal cause.

THINKING IT OVER

mooIn is explaining according to X9 27. However according to X995 17 we must
assume that the &n>92 is after Wm’,6 so how can n»own ask that we should reverse
the Xn*"1 according to 27;” if it is after wI%* the Xn>92 cannot follow 27 even if we
reverse® it?!°

" Our text read Xny ¥ X 7wp. The explanation of m»doIn follows our X077 as well.

* The x9°0 stated; 7272 TP XX 292 m2wn oown WK 3w ' '7 29wn WA 1210 TR X231 7av) 233, The question is since
there was 7wyn "W (through the 1r°2v), the first 213 was certainly 72p, so why should not the second 213 pay 292.

* The Xw™ and Xny¥n of the X123 indicate that *1p X% WX (if the Xn™1 is WX MKY).

* We can use the same answer as X271 gave, namely the X032 is before wx* and we will reverse the rulings of the
XNy ¥n and the X9°0; in the XNy ¥n where he was (merely) 727, the second 213 pays only the 77p (it is before wX*), and
in the X2°0 the second 213 pays the %93 since the first 213 was Iwyn "1°wa Ay through the amav. See ‘Thinking it
over’.

> When we assumed that the X012 is according to "2 that qwyn "W is 73, the 89°0 of the Xn™a was not
understood (why should not the second 213 pay 992), therefore there is sufficient cause to invert the ¥n>13; however
now that X995 27 is establishing the Xn™M 2 according to w"a that M1°w is not 11p, the Xn»71 is well understood,
therefore there is no reason to invert the Xn>72 in order to justify 2.

S If it is before Wi, why in the Xny>¥n does the second 213 pay 993, since there was only mwa "w?

7 See footnote # 4.

¥ The original questions of the X113 on the Xny>m Xw* remain.

? See 70 *wAon XK # 30.
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